

Prénom :	Date :
----------	--------



Les parenthèses

Ton ami Gus te propose d'effectuer les calculs avec parenthèses suivants

◆ $(4 \times 2) + 3 = \dots\dots\dots$

◆ $(5 + 8) \times 2 = \dots\dots\dots$

◆ $(6 - 2) + 7 = \dots\dots\dots$

◆ $(3 + 5) - 4 = \dots\dots\dots$

◆ $10 \times (3 + 2) = \dots\dots\dots$

◆ $(20 + 12) \times 3 = \dots\dots\dots$

◆ $4 \times (10 - 2) = \dots\dots\dots$

◆ $(6 \times 7) - 12 = \dots\dots\dots$

CORRECTION



Les parenthèses

$$\diamond (4 \times 2) + 3 = 8 + 3 = 11$$

$$\diamond (5 + 8) \times 2 = 13 \times 2 = 26$$

$$\diamond (6 - 2) + 7 = 4 + 7 = 11$$

$$\diamond (3 + 5) - 4 = 8 - 4 = 4$$

$$\diamond 10 \times (3 + 2) = 10 \times 5 = 50$$

$$\diamond (20 + 12) \times 3 = 32 \times 3 = 96$$

$$\diamond 4 \times (10 - 2) = 4 \times 8 = 32$$

$$\diamond (6 \times 7) - 12 = 42 - 12 = 30$$